
i=
0.4

2%

d=61.991m

i
=

1

.
9

7

%

d

=

1

8

5

.
0

9

6

m

i=
-
1
.0

6
%

d
=

3
.5

7
9
m

i
=

2

.
0

2

%

d

=

1

3

6

.
5

3

9

m

i=-0.36%

d=40.865m

i=

1
.
5
0
%

d
=

2
.
9
2
0
m

i
=

-

3

.

8

6

%

d

=

1

1

0

.

2

8

2

m

i
=

1

.
6

0

%

d

=

4

6

.
5

3

7

m

P
I
V

=
k
m

 
7
1
7
+

0
4
9
.
8
3
8

C
O

T
A

 
P

I
V

=
1
0
8
5
.
0
7
4

P
C

V
=

k
m

 
7
1
7
+

0
1
0
.
4
7
3

C
O

T
A

:
 
1
0
8
4
.
2
9
7

P
T

V
=

k
m

 
7
1
7
+

0
8
9
.
2
0
2

C
O

T
A

:
1
0
8
4
.
6
5
8

k=26.000

e=0,298

d=78.729

P
I
V

=
k
m

 
7
1
7
+

4
4
6
.
5
9
4

C
O

T
A

 
P

I
V

=
1
0
9
0
.
5
7
6

P
C

V
=

k
m

 
7
1
7
+

3
0
6
.
1
0
8

C
O

T
A

:
 
1
0
8
7
.
7
4
3

P
T

V
=

k
m

 
7
1
7
+

5
8
7
.
0
8
0

C
O

T
A

:
1
0
9
0
.
0
6
4

k=118.000

e=0,836

d=280.971

P
I
V

=
k
m

 
7
1
7
+

7
5
2
.
7
8
4

C
O

T
A

 
P

I
V

=
1
0
9
1
.
1
5
9

P
C

V
=

k
m

 
7
1
7
+

6
9
7
.
8
4
4

C
O

T
A

:
 
1
0
9
0
.
3
3
7

P
T

V
=

k
m

 
7
1
7
+

8
0
7
.
7
2
4

C
O

T
A

:
1
0
8
9
.
0
3
6

k=20.500

e=0,736

d=109.881

P
I
V

=
k
m

 
7
1
6
+

6
7
4
.
9
7
4

C
O

T
A

 
P

I
V

=
1
0
7
9
.
5
8
2

P
C

V
=

k
m

 
7
1
6
+

6
4
2
.
5
6
5

C
O

T
A

:
 
1
0
7
9
.
8
5
0

P
T

V
=

k
m

 
7
1
6
+

7
0
7
.
3
8
2

C
O

T
A

:
1
0
7
9
.
7
1
7

k=52.000

e=0,101

d=64.817

P
I
V

=
k
m

 
7
1
6
+

7
9
7
.
3
7
5

C
O

T
A

 
P

I
V

=
1
0
8
0
.
0
9
2

P
C

V
=

k
m

 
7
1
6
+

7
6
9
.
3
7
3

C
O

T
A

:
 
1
0
7
9
.
9
7
6

P
T

V
=

k
m

 
7
1
6
+

8
2
5
.
3
7
7

C
O

T
A

:
1
0
8
0
.
6
4
5

k=36.000

e=0,109

d=56.004

P
I
V

=
k
m

 
7
1
7
+

1
3
1
.
1
7
5

C
O

T
A

 
P

I
V

=
1
0
8
4
.
2
1
6

P
C

V
=

k
m

 
7
1
7
+

0
9
2
.
7
8
2

C
O

T
A

:
 
1
0
8
4
.
6
2
1

P
T

V
=

k
m

 
7
1
7
+

1
6
9
.
5
6
9

C
O

T
A

:
1
0
8
4
.
9
9
0

k=25.000

e=0,295

d=76.788

P
I
V

=
k
m

 
7
1
7
+

6
6
1
.
4
3
5

C
O

T
A

 
P

I
V

=
1
0
8
9
.
7
9
3

P
C

V
=

k
m

 
7
1
7
+

6
2
7
.
9
4
5

C
O

T
A

:
 
1
0
8
9
.
9
1
5

P
T

V
=

k
m

 
7
1
7
+

6
9
4
.
9
2
4

C
O

T
A

:
1
0
9
0
.
2
9
4

k=36.000

e=0,156

d=66.979

P
I
V

=
k
m

 
7
1
7
+

9
5
2
.
1
4
1

C
O

T
A

 
P

I
V

=
1
0
8
3
.
4
5
6

P
C

V
=

k
m

 
7
1
7
+

9
1
8
.
0
0
6

C
O

T
A

:
 
1
0
8
4
.
7
7
5

P
T

V
=

k
m

 
7
1
7
+

9
8
6
.
2
7
5

C
O

T
A

:
1
0
8
4
.
0
0
1

k=12.500

e=0,466

d=68.269

B
S

T
C

 
Ø

 
0
,
8
0

k
m

=
7
1
6
+

7
0
0

Brasília

Rio de JaneiroBSTC Ø 0,80

km=716+700

B

S

T

C

 

Ø

 

0

,

8

0

k

m

=

7

1

8

+

0

5

0

N
u

n
o

 
F

.
 
L

u
z
 
|
 
V

I
A

P
O

N
T

E

1
1

 
J
u

l
h

o
 
2

0
1

4
 
 
2

0
:
3

5
:
2

4

E
m

 
c
ó
p
i
a
s
 
d
e
s
t
e
 
d
e
s
e
n
h
o
 
c
o
m

 
f
o
r
m

a
t
o
 
d
i
f
e
r
e
n
t
e
 
d
o
 
A

1
 
a
t
e
n
d
e
r
 
à
 
e
s
c
a
l
a
 
g
r
á
f
i
c
a

N
:
\
1

4
0

4
-
B

R
_

B
R

-
0

4
0

_
L

O
T

E
9

_
A

P
_

P
B

\
0

2
_

P
B

\
0

1
_

T
R

A
B

A
L

H
O

\
0

1
1

_
P

D
E

S
\
0

_
X

R
E

F
_

C
\
X

R
E

F
_

V
I
A

S
\
L

9
B

R
0

4
0

M
G

-
M

F
_

P
B

_
P

L
A

T
_

P
P

_
3

7
5

_
4

5
2

.
d

w
g

TRECHO BRASÍLIA / DF - JUÍZ DE FORA / MG

BR-040 DF / GO / MG

CONCESSIONÁRIA

BR040

L9BR040MG-PB-PP-413

07 2014

PROJETO - CONTRATO CLÁUSULA 6.10

TRAÇADO

PROJETO GEOMÉTRICO

km 716+600 ao km 718+000

Paulo Gomes/João Campos

Luís Lima/Carlos Martins

Natacha Rodrigues
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